

# الرسالة الأولى إلي تيموثاوس

١.....	المقدمة
٣.....	الإصحاح الأول
١١.....	الإصحاح الثاني
١٦.....	الإصحاح الثالث
٢١.....	الإصحاح الرابع
٢٦.....	الإصحاح الخامس
٣١.....	الإصحاح السادس

( )

---

المقدمة

( )



.( ) .



-:

( : + : )

.( : )

( )

---

( )

.( : )

( : )



( : ) + ( : ) + ( : )

+ + + + )

.( : )

( +

.

( : )



.( : )



.( : ) + ( : ) + ( : + : )

.



## الإصحاح الأول

-: ' .

.

.

:

=

=

=

=

=

=

" my true son in the faith"

"

"

=

"

"

-:

=

=

-:

( )

---

=

.

.( )

( )

[  
.]

=

.

=

.

.( : )

=

.

.

-:

=

.

.

=

.

=

.

( )

---

.

:-

=

=

=

:-

.

.

.

.

.

:-

( : )

.

.

=

"

"

.

.

( )

---

"

( ) ( : )

.( : )

.( : )

.( : )

( - : )

( : )"

"

.( : )"

"

( : )

( : ) + ( : )

( : )

( )

---

.( : ) ( : )

-: -

=

=

=

=

=

=

=

-:

) + ( : )

...

=

.( : ) + ( : ) + ( :



( )

---

. -:

. =

. -:

. =

. =

( : )

. -:  
.

. =

. .

. -:  
.

. .

( )

---

-:

.

.

.

=

.

-:

.

=

=

( : )

)

"

"

( : )

( :

( : )

=

=

( )

---

( : )

=

.( : )

( : )

( - : )

= . =

concerning the faith have suffered =

]

[ shipwreck

## الإصحاح الثانی

-:

" " =

=

=

=

-:

:

"

.( : ) "

-:

( )

---

.

.

-:

.

...

( : )

...

.

.

-:

.

=

.

.

.

=

.

.

...

( )

.

( : )

( : )

( : )

( : ) + ( : )

.

( : )

( )

---

=

∴

.( ( ) )

=

( ) =

∴

∴

= =

( : )

= =

( )

---

=

( )

=

( : )

=

.( : )

-:

( - : )

-:

+( : + : )

.( : )

=

( )

---

.

-:

.

.

=

.

.

.

-:

.

( )

.....

.

.( : ) + ( - : )

.

.

.



( )

---

### الإصحاح الثالث

-:

-: -

=

=

( )

=

=

=

=

( )

---

$$= \cdot = \cdot$$

$$=$$

( : )

$$=$$

$$=$$

$$=$$

$$=$$

-: -

$$: ) + ( = ) ( : )$$

(

$$=$$

$$=$$

( )

---

=

.

.

-:

.

=

.

.

-:

.

=

.

-:

=

.

=

( )

.( : )

( : )

( )

---

.( : ) + ( : )

-:

.

-:

=

=

)

.(

( )

." ( : ) + ( : )

=

( : )

"

( )

---

.( : )

( : )

."

"

=

.

.

=



( )

---

( )

---

$$.( \quad : \quad ) + ( \quad : \quad ) + ( \quad : \quad ) + ( \quad : \quad ) =$$

-: -

$$.( \quad ) \quad ( \quad )$$

$$( \quad ) = .( \quad : \quad )$$

$$=$$
$$.( \quad : \quad ) + ( \quad : \quad ) =$$



( )

---

-:

=

=

=

=

-:

-:

=

=

=

-:

=

=

=

( : )

( )

---

.

## الإصحاح الخامس

-:

-: -

=

=

:

( )

---

( )

. = .

=

=

-: -

( )

---

$$\begin{aligned} &= \dots \\ & \cdot ( : ) \\ &= \dots \\ &= \dots \end{aligned}$$

$$\begin{aligned} &= \dots \\ & \cdot \\ &= \dots \\ &= \dots \\ &= \dots \end{aligned}$$

$$\begin{aligned} & \cdot ( - : ) \\ &= \dots \end{aligned}$$

-:

$$( : ) + ( - : ) + ( - : ) + ( : )$$

-:



( )

---

-:

.

.

.

.

.

.

-:

.

=

.

=

.

.

( )

---

## الإصحاح السادس

-:

( : )

: ) + ( - : )

( ) + (

-:



( )

---

: ) + ( : )

(

=

=

"

"

- : -

.

.

"

"

"

..

( )

---

"

-:

-:

( )

---

-:

.  
:  
.

.( : ) + ( : )  
: )

.(

.( : ) + ( : )

-:

-:

( )

---

=

- ∴ -

=

=

=

=

"

"

"

.( : - : )

=

( )

---

=

=

- ∴ -

=

=

- ∴ -

( )

=

( )

---

=

.